TR0 E BEEMTUT—MERBEE

QLAIAE | TEYH ?
B
0%

Z0tt
0%

TR
0%

=R s EE R - ETOfM

Q3,ER R F O EE (LE I, ?
=i Z 0t
B

25%‘ B
75%

0%
Ry o EE = FTE - ZTOMh

Q6,FAET7 27— FEITVEHBREIZD

HIFTNBH?
ol Z0ks
25% Sy 0%
0%
Bl

75%
PR s BiE o« FE - ZOM

Q7. FB. KBIZELEENIF2IL

FEBELTLNEMN?
&
R 0%
0% Z 0t
0%
B

100%

Ry s B s FE - TOM

NEFRRERRH
Q2,8 R DEE ABIZELIH ?
L&
0% TR

0% ZDth

0%

PBL s EE R - ZOH

Q4,1 R OTHESRERLTL\ B ?
i Z0tt
B

25%‘ Eagy
75%

0%
R s EE TR - TOM

Q6, FE=FHFMEBRLARIZITOTL
M2

& Z0M
Bl

25%‘ B
75%

0%
R s EE s RE 0 TOM

Q8 W ARDOBHSEOTIITBES
EAVRFESNZ,

0%

oy
=]

50%

RWL
50%

R nEE s RRE - TOM



TR0 E BEEMTUT—MERBEE

Q9, B R DEBDIZIEDEREITTET

(RV3Y:)Y i\ rd
%A
R 0%
0% ot

0%

RL»
100%

=R s EE R - ETOM

Q11 ERMT7HBELGIAFCIEE

BELOEREHZELSTLNSM?

iE

2 0%

0% Z 0t
0%

BRWL
100%

R s EE s FE - TOM

Q13 MRERREISTEORELLF

ELLFEMTOIHREHEIM?
Z0ih
20%
Bl
40%
2
20% ‘

PR e EE s FRE 2O | 5o

Q15,BEHE. XERA. FIREAE%E
%(:oht@%ﬂ@%‘%@fhéb\?

0% T~E
0%

Aty

50%

RL
50%

RO s EE = FR - ZTOH

NERRERSH

Q10, ftfEER L D IFWIH CEMEA R

[FTETLSH Fom

0%

o 1y
=]

50%

R
50%

R s EE s AR - ETOfM

Q2 REREX R 5—FLDEHR

PEIEEZTTLNAM?
=5
TR 0%
0% Zoit
0%
Bl

100%

Rl s B = FE - TOM

Ql4. HEMSREDLD LIEHRHEER

[XTCETHVAM?
0% Tz

0% Z0Ht

0%

R s EE s FE - ZTOM

Q16, HROKAPHBICHELGEE®
FNTETLEN?

T 0t

25%‘ BN

0%

RWL
75%

R s EE TR - TOM



TR0 E BEEMTUT—MERBEE

Q17, E1ER S DBEE LR ZEMN DB (255

BTETLDHM?
Zoft
20%
Bl
40%
TR
20%
A
Sow | mEL s ®E =FE = ZOf

QL9, RABHG . BRLEI-aT7ILFEEZEEL
BEZICRAHMLTLSEN?

Tl 20t

25% l S— 0%

0%

RL
75%

=R s EE R - ZTOM

Q21,2 FR5IE D=8 DR DI EHR A

ELALHMTETLNSM?
=&
TR 0%
0% zoM
0%
B

100%

=R s EE TR - ZOfM

Q23 FIREIXB R DBEREZELAIZLTL
oh?

ki Zoftt

25%‘ i

0%

BL
75%

Ry s B = FE = 2O

NERRERSH

Q18 {8 N EHRABITTEL TS, ?

0% Tz
0%

g}
0%

R s @ s FR - O

Q20,3 K F IR A - TEHI K7 BB HIRR
[FTETLEH?

il Z0it

25% l e 0%

0%

BLY
75%

Bl nTE o2 Z D1t

Q22,EVYN\YFEEREER LB ERAT
HELTLSH?
&
0%
Z0it
0%

R
0%

oo B s EE 2 FE - 20

Q4 BEITERDEHICEERER/LA
BROELLLEENTETNSM?
5%
TR 0%
0% Z0t
0%

oo "EL =BE TR - 2O



